Acc. Precalculus    
    
           Name      SOLUTIONS     .
Can Matrices Be Even More Fun ???

           Period _______Date ____________
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11.)   Consider:             .   Then the determinant equals:  a b  ―  a b  =  0

12.)  Let  A = 
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 .   Then  det(2(A)  =  det
[image: image13.wmf]2a2b

2a2d2c2b4ad4bc

2c2d

æö

éù

=×-×=-

ç÷

êú

ç÷

ëû

èø

,
        and   4( det(A)  =  4((ad ―cb)  =  4ad ― 4bc.

13.)  Let  A = 
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  and  B = 
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.   Then  A(B = 
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       Now  det(A(B)  =  (ae +bg)(cf +dh) ― (ce + dg)(af + bh)

                               =  aecf + aedh + bgcf +bgdh  ―  (ceaf + cebh + dgaf + dgbh)


           =  aedh + bgcf ― cebh ― dgaf
       and  det(A) ( det(B)  =  (ad ― cb) ( (eh ― gf)  =  adeh ― adgf ― cbeh + cbgf
14.)  Let  A = 
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.   Then  A+B = 
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        Now det(A + B)  =  (a+e)(d+h) ―(c+g)(b+f)  =  ad + ah + ed + eh ― (cb + cf + gb + gf)

                 

   =  ad + ah + ed + eh ― cb ― cf ― gb ― gf
        and  det(A) + det(B)  =  (ad ― cb) + (eh ― gf)  =  ad + eh ― cb ― gf          FALSE!
15.)  x + 2y = 7




16.)  x + 2y ―7 = 0  

       (How do the answers to problems #15 and 16 compare?)
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17.)  8 ― 7x = 2x + 21           9x = -13           x = -13/9
� EMBED Equation.3  ���
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